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TENTH CLASS MODEL PAPER

PUBLIC EXAMINATIONS - 2020

Time: 3 Hrs. 15 Min.

Instructions:

1. Answer all the questions in a separate answer booklet.

2. The question paper consists of 4 sections and 33 questions,
3. There is internal choice in Section — IV,

4. Write answers neatly and legibly.

SECTION -1

Note: i) Answer all the questions.
ii) Each question carries 1 mark,

iii) IT any question answered more than once [irst
attempted answers only valued. 12X1=12

1. Find the value of log; 243.
2.1t a < 0, then the graph of the polynomial ax2 + bx + ¢ is

A) Y B) AY
1 1 B
X <€ X x..;,,\,\_], X
% %
C) ‘YU D) AY
1 R 1 [
x.‘I ‘_I | s x x* Pl _I o x
Yy’ ¥V

3. Two angles are complementary. One angle is 18° more
than the other then the small angle is ........

MATHEMATICS PAPER -1 & II Max. Marks: 100

6. Match the following.

i) L.S.A. of hemisphere  a) 4mr2
i) T.S.A. of hemisphere b) 2nr2
ji) T.S.A. of sphere c) 3mr2
A) i-c, ii-b, iii-a B) i-b, ii-a, iii-c
C) i-b, ii-c, lii-a D) i-c, ii-a, iii-b

7. Statement 1: Slope of X-axis is zero.
Statement 2: Slope of Y-axis is 1.
A) Statement 1 is true, statement 2 is false.
B) Statement 1 is false, statement 2 is true.
C) Both statements are true.
D) Both statements are false.

8. In ABCD rhombus, 4ABZ — AC?= ........
A) 2 BD? B) 12 BD? C) 3 BD?

9. Angle in a semi-circle is ........

10. cos?0(1 + tan®0) = ........

11. If P(E) = 0.05 then P(E)=

12. H 2 ix =1860, Zt=30then X = ........

SECTION - 11

Note: i) Answer all the questions.
ii) Each question carries 2 marks.
13. Solve 3¥ = 5%~ 2
14. Write the following sets in set builder form.

D) BD2

8X2=16

18. Draw a rough diagram of a tangent and secant to a
circle.

sin?d — cos?0
sin20 — cos20
20. A bag contains 4 red balls and 6 black balls. A ball is

drawn at random from the bag. What is the probability
that the ball drawn is red and not red?

SECTION - 111

Note: i) Answer all the questions.

19. Find the value of

ii) Each question carries 4 marks. 8 X4=32
21. If A={x:xis a multiple of 2 less than 20}, B={x: xis a
multiple of 3 less than 20} then find
JAUB ii)ANB i) A—B iv) B —A.
22. Find the quotient and remainder when we divide
X3 —3x%x2+ 5x —3 by ¥ - 2.
23. For what wvalue of ‘p' the
eguations have unigue solution.

2x +py=-5and 3x + 3y =6
24, Kiran started work in 2015 at an monthly salary of
Rs.50,000 and received an increment of Rs.2,000
each year. In which year did his income reach
Rs.70,0007
25. Prove that the tangents to a circle at the end points of a
diameter are parallel.
26. Express the following in terms of trigonometric ratios of
angles between 0° and 45°.
i) sin 819 + tan 81° i) sin 75" + cos 65°
27. An observer of height 1.8 m is 13.2 m away from a
palm tree. The angle of elevation of the top of the
tree from his eyes is 45°. What is the height of the
palm tree?
28. The following table gives production yield per hectare of
wheat of 100 farms of a village.

following pair of

SECTION -1V

Note: i) Answer all the questions.

ii) Each question carries 8 marks.

iii) There is an internal choice for each question. 5 X 8 =40

29. a) Use Euclid division lemma to show that any positive
odd integer is of the form 6q + 1 or6q + 3 or 6q + 5,
where ‘q’ is some integer.

(OR)

b) Check whether 301 is a term of the list of numbers 5,
11,17, 23, . ..

30. a) Sum of the areas of two squares is 89 sgq.m. [f the dif-
ference of their perimeters is 12 m. Find the sides of
the two sguares.

(OR)

b) A heap of rice is in the form of a cone of diameter
12 m and height 8 m. Find its volume? How much
canvas cloth is required to cover the heap?

31. a) If the coordinates of the mid-points of the sides of a
triangle are (1, 2), (0, =1) and (2, -1). Find the
coordinates of the veriices of the triangle.

(OR)

2 sint — 3 cosb

4 sinfBl — 9 cosb

32. a) All the black face cards are removed from a pack of 52
cards. The remaining cards are well shuffled and then
a card is drawn at random. Find the probability of
getting a

|) face card

b) If cosec O = g find the value of

ii) red card
(OR)
b) For the following distribution, find the mean using
suitable method.

iii) black card iv) king

:.::iu 110-120 | 120-130 [130-140 [140-150 |150-160 [160-170 |170-180 |180-190 |180-200
Frequency | & 25 48 72 118 60 38 =2 s

33. a) Draw the graph of the polynomial p(x) = x2 + 5x + 4.
Find zeroes.

A) 54° B) 45° C) 36° D) 30°

. Write the sum and the product of the roots of the equation
x¥-16=0

. In the progression: 25, 20, 15, ....... which
negative tem?
A) 7 B) 6 C)5 D)8

term is

: : 11 1 1
)A=1{2,3,5 7,11} )B=01,———,
) { } ) [ 4 9 16 25] Production yield
15. Half the perimeter of a rectangular garden, whose (Qui/Hec) LSS ||| 700 | 8085 | Bactl | 10T el
length is 4 m more than its breadth, is 36 m. Find the Number of
dimensions of the garden. farmers s é 12 24 4 %

16. Find the volume of right circular cone with radius 4.5 cm.

and height 3.5 cm.

17. 1 A=(7,5), B=(2,4) and C = (6, 10) then show that

AB = AC.

Change the distribution to a more than type and less than

type distributions.

(OR)

b) Draw a right angled triangle with measurements 6 cm.,
8 cm.

, and 10 cm., then construct a triangle shadow

similar to the triangle, with its sides equal to 2 of the

corresponding sides of the triangle.

-TSVS. Suryanarayana Murthy

Model Questions -Botany

1

2.

4.

The set of commercial and industrial products

of non bacterial origin

1) Citric acid, acetic acid, lipase

2) Citric acid, acetic acid, butyric acid

3) Ethanol, citric acid, cyclosporin — A

4) Statin, acetic acid, ethanol

Assertion (A): Organisms of Monera having

pseudomurein in cewalls are producers of

biogas

Reason (R): Archaebacteria present in the

gut of ruminants animals produce methane

1)A and R correct, R is the correct
explanation of A.

2)A and R correct, R is not the correct
explanation of A.

3) A is correct, R is not correct.

4) A is not correct, R is correct.

. Choose the correct statement. .

I) Like fossil plants Pongamia produce petrol
due to the presence of hydrocarbons
Il) Azolla, Nostoc and Anabaena help in
recycling of nutrients by saprophytic mode
of nutrition
IIl) Chorella is a single cell protein
IV) Branch of Botany deals with the study of
different tissues and internal details of
plant organs is Mormphology
11, 1 21,1V 3) LIV 4) 11, IV
Choose correct pair from the following.

Chorella

I) Primary producers - Important

Il) Specific water

step in
evolution
- Restricted to nar
row geographical
regions

requirement for
fertilization of
pteridophytes

[ll) Growth of young - Food cycle of

embryo in female aquatic animals

Gametophyte
IV) Colonization of - Ecological signifi-
mosses and cance
lichens on rocks
1) I, 1V 2) LI 3) LIV 4) 11, IV

Arrange the following events of mitotic cell

cycle in series

a) Reformation of nucleolus, golgi complex
and ER

b) Amount of DNA per cell doubles

c) Disappearance of golgi complex and ER

d) Condensation of  chromatin into
chromosome

e) Distribution of mitochondria and plastids to
daughter cells

f) Seperation of chromatids at centromere

1)bcdfae 2)bdceaf

EAMCET - 2020

Agriculture

3)bdcfae 4)bdcfea

. Choose incorrect statements.

I) Trap leaves supply nitrogen to Nepenthes
plant
Il) Grape vines differ from watermelon by
having tendrils developed from axillary bud
lIl) balancing roots of Eichornia arise from
horizontally growing lateral branches
IV) Gall flowers of ficus store eggs of
blastophaga
)L N 2) 11,

3) LI, 4) 1 1V

. ldentify the respective formula of the gynoe-

cium from which fruits like Berry, Pepo,
Hesperedium and Pome are developed

1) IE{EuL G, Q;zyr_ﬁm 2) G, QEL G-w, [E;z-m
3} G{_E:h G1-r Q{E:I-r G{Ei 4} g{ﬂ-li:h G{ﬁ.lf g-l'l.f.:l'r G{E'i.l'.:l

. Features which are highly unique to

angiosperms
I) Multicellular, much reduced and dependent
gametophyte

(c) eenadu

is a single cell protein..

Il) Siphanogamous fertilization
I1l) Fusion of male gametes with egg cell and
secondary nucleus
IV) Development of ovule into seed
1) 11, 1l 2)L,1  3) LU 4) 10, IV
9. An apple showing monosporic type of
embryosac development assumed to develop
a fruit with 12 seeds. Find out the No. of
chromosomes present in megaspore mother
cell, functional megaspores, egg cells,
synergids, antipodals, zygote and PEN.
1) 408, 204, 204, 408, 612, 408, 612
2) 408, 204, 408, 204, 612, 408, 204
3) 408, 204, 204, 408, 408, 612, 612
4) 408, 204, 612, 408, 612, 408, 204
10. Assertion (A): Cleistogamous flowers
produce assured seed set in the absence of
pollinators
Reason (R): Cleistogamy is invariably an
Autogamy
1)A and R correct, R
explanation of A.
2)A and R correct, R is not the correct
explanation of A.
3) A is correct, R is not correct.
4) A is not correct, R is correct.

iIs the correct

11. Choose the correct set of plants showing the
following features.

A) Medicinally important plant and a tendrillar

climber with unisexual flowers

B) Spice yielding plant with cymose inflores-

cence, persistant calyx, unilocular ovary

C)Oil seed plant with monadelphous

stamens, unilocular ovary and indehiscentpod

1) Ruscus, Capsicum, derrns

2) Smilax, Solanum, Arachis

3) Asparagus, Capsicum, Arachis

4) Smilax, Capsicum, Arachis

12. Select the incorrect statements from the
following.

I) In plasmamembrane hydrophilic polar heads
of lipids arrange towards the outside and the
hydrophobic tail towards the innerside

II) In plasmamembrane perpheral proteins lie on
the surface of membrane while the integrated

proteins are buried in the membrane

lIl) Neutral solutes may move across the

membrane by the process of simplediffusion
against the concentration gradient

IV) Polar molecules can pass through the

non-polar lipid bilayer and do not reguire
a carrier proteins
1L

3) I, 11

2) Il IV
4) 111, |

Answers

1-3 2-1 3-1 4-4 5-3 6-3 7-4 8-3 9-1
10-1 114 12-2.



